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BCHET-149 : MOLECULES OF LIFE

Time : 2 Hours Maximum Marks : 50

Note : (i) Answer any five questions.

(it) All questions carry equal marks.

1. (a) What is Z-ion ? How does it affect titration
of amino acids ? 5

(b) What are lysosomes ? Write their functions
in the cell. 5

2. (a) Describe fat, oil and waxes with suitable
examples. 5

(b) Describe the classification carbohydrates. 5

3. Write short notes on any two of the following :
5+5=10
(a) SAR
(b) Drug receptor theory
(¢) Secondary structure of Proteins
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What is enzyme inhibition ? Explain the
mechanism  of competitive  enzyme
inhibition. 5
Match the following : 5

(1) Pharmacokinetics (A) Prostaglandins

(1) Immunoglobulin (B) Ketone bodies

(i11) Storration (C) Glycogen used
(iv) Fasting (D) Protection
(v) Muscle (E) What the body
contraction does to the
drug

Explain the formation and geometry of the

peptide bond. 5
Explain the role of RNA and ribosomes in
protein synthesis. 5
Explain the reasons that are responsible

for membrane fluidity. 5

Describe the role of ATP in biochemical

energy transformations. 5
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Explain the interrelationship among the
three  metabolic  pathways  namely,

carbohydrates, fats and proteins. 5

What makes enzymes suitable as

therapeutic drug targets ? 5

Define  genetic code. Explain its

significance. 5

How 1s alcoholic fermentation in yeast
similar to lactate production in skeletal

muscles ? Explain. 5

P.T.O.
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(i) G4t F & 3TH GHA B

1. (%) Z-3F7 &1 e & ? UHAl owell &
AT h1 I8 Toh® U JHIfeld  hdl

g ? 5
(@) EEEE 1 8 8 2 HIRe ° T
T fafau) 5

2. (%) SUgH 3TN & WMo o9, oA q HH

1 U HIfST| 5
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3. frefafed & @ f&f at m dfea femforr
fafe : 5+5=10
(%) SAR
(@) vy e fagr
(1) URE 1 fadoe S

4. (%) USTEH HIHA 1 B € 7 TAHicHR USTEH
geud w1 fshanfafyr &1 =aren wifsiw) 5
(@) frfafad =1 faem sifsg . 5

() olmvEerfas!  (37) WRTelfed

(i) sArfer () wieq fyve

(i) R (F) T TS o
(iv) 3YaT™ (%) o=
(v) HEel HEEd () S OIRR Sy
I H 7
5. (%) URES WY & o4 SR SAfafd i
Zreiiciisiy 5
(@) WA Hyelwor § g 3R RNA i
fHehT hi =AM HifSq| 5
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6. (%) focett gmaar & fau IUERT SROT &

AT i 5
(@) SR Sl ®uaol § ATP &I
gfHert &1 9UH HIQ 5

7. (%) 9 SUTER Ul AWd: FrEEEge, adsh
dgq YA &% = Siqdlry &l AT

CAIE LY 5

(@) USEA SygE fafecan oiwfy oieg &
e § ? 5

8. (%) STIaRh hle I IR HIWW THH
g ol AT hifau| 5

(@) HHh IR H oRe &1 IdRd de |
Ueshielel fovad 9 foe woR  guma
9l & ? SreA hifeu| 5
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